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3 Answer for Question 2
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A }6 9 8 24 100

B

2 x A = 100 + 24

4 Questions 3 & 4
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5 Answer for Question 3
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6 Answer for Question 4

1000

B4 Sandy Ken Rent Out

? 80 1/3  X £460 Bills £50 left

Give Sandy Ken 1/4  X of 2/3 X = 1/6 X

X 4X 1/3 X + 1/6 X = 1/2 X

 5X = 1000; X=200

Note : bars are not drawn to scale

9 Part of chooMantra Maths Initiative
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62
A's 

value
  Total flowers = 6 + 9 + 8 = 23

23
cookies A = 124/2 = 62

chooMantra – Its Magical !

Apps, Skills, Gamification of education - http://www.choomantra.com/rajeevgm-notes/apps/

X = ?

280
stickers

£1020
earning

At start Sandy had  X + 80 = 200 + 80 = 280 1/2 X = 460 + 50 = 510; X = 510 x 2 = 1020

chooMantra – Its Magical !

Play Times Table Quiz on Alexa – http://bit.do/AlexaTimesTableQuiz
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